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E2 100m 1 =& @K 755 S I 2 [ 10719 +1.0 10”778 2 | +038 10”7 62 1
5 100m 2 &M SLEHTEE 2 [ 10/19 DNS
2 100m 3 mll =S &= BB 2 [ 10/19] +1.0 10”87 3 | +08 1705 8
5 200m 1 =& AKX P R 2 [10/20] -1.3 227 26 1 | -14 217 84
5 200m 2 wmlll &M LT 2 |10/20 DNS
5 200m 3 fll EE HHE 2 [10/20] -1.2 22765 1 | =11 22718 4
5 400m 1 RKH ERE JIFER 2 | 10/19 497 16 3 48" 85 4
Ea] 400m 2 BEE BE E] 2 | 10/19 497 42 1 487 95 5
5 400m 3 Hi¥ & JIFER 1 |[10/19 50" 45 3
B  800m 1 k& @ M=k o4 1 |10/20 17 577 61 1 17 5773 3
5 800m 2 25 58 HEME 2 |10/20 17 56”7 93 2 2’ 01”721 6
2] 800m 3 B Bk SEHEE 2 |10/20 17 56”83 1 17 57735 2
& 1500m 3 B &K SEREE 2 | 10/19 4’ 09”72 1 3’ 577 42 4
B  1500m 5 wie m=E BHEE 2 | 10/19 4’ 16" 58 10
% 1500m 7 =R B EBER 2 | 10/19 47 137 87 7
B  5000m 6 TH X JUFER 2 |10/20 15’ 05739 10
82  5000m 8 AF Xk IR 1 |10/20 DNS
B  5000m 10 T #E AL 2 |10/20 15’ 157 86 12
& 110mH 1 AR ;B &F 2 | 10/19| +1.4 15”7 37 2 | +1.0 15”7 74
B2 110mH 2 MO EA (NN, 1 | 10/19| +2.1 15711 2 | +1.0 15713 5
g5  110mH 3 xXE Fi JNAmiaz 2 | 10/19| +1.4 15”7 65 7
B  400mH 1 =M BARKRE 2 |10/20 54" 85 2 54 " 57
5  400mH 2 T8 RE AER 2 |10/20 55”7 11 3 56" 00 7
8  400mH 3 M#F X &F 2 |10/20 56”7 74 5 ”
& 3000mSC 1 BB ORI A 2 |10/19-20 427 38 3 32778 6
% 3000mSC 2 X = @)l 2 |10/19-20 9’ 40" 40 1 9’ 23”7 15
B 3000mSC 3 B BE FrRAt 2 [10/19-20 9’ 59”58 8
B 5000mwW 1 W% EEM SLEHTEE 2 | 10/19 247 017 36 7
& 5000mW 2 WA —iF Y i} 2 | 10/19 25’ 18”7 05 18
B 5000mW 3 FRZE  EAHED A EE 2 | 10/19 247 477 28 15
e s 427 86 1 417 97 3
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- 43765 5 |
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230 EIREFERRRFAELFEBRFIERRER FEE-HA 10.19~10.20
, N = FiE P
- HE AR K & R FE MR g s pmlm m e
L E = Bk 1 BH ZEPK RE 1 |10/20 1m96 2
5 E Bk 2 AH )3 J\# 1 | 10/20 1m80 22
£ E = Bk 3 EHE 2 &F 2 | 10/20 Tm9% 1
5 ek 1 =X 8 AEIL 2 | 10/19 4m20 12
5 HEE Bk 2 e % 2R 2 | 10/19 4mo00 17
E e Bk 3 =l ER BRARE 2 |10/19 3m80 21
5 ENE Bk 1 TR E NI 2 | 10/19 +2.6 6m70 10
i Mg B 2 AEE &S =d 2 |10/19 +1.6 6m65 14
5 FENE Bk 3 & Ed=EED 2 | 10/19 +28 6m68 12
5 =Rk 1 TR E LN 2 |10/20 +3.8 13m81 9
5 =Exk 2 PH EX JII 2 |10/20 +2.1 13m93 7
5 =ER Bk 3 =k 5o LtE™E 2 |10/20 +1.2 13m43 17
g fahi 1 E R ALHE 2 | 10/19 12m98 13
5 iz 2 B & l=l;7hva 2 |10/19 12m18 23
5 A 3 L EEEE EElE 1 |[10/19 12m39 22
5 MR 2 a5 & =7 hva 2 | 10/20 35m08 20
5 A% 3 WE AR ALAHEF 2 |10/20 36mb55 15
5 M 4 HE B P 2 |10/20 33m57 23
B nov—i% 1 BEdth AKX KE 2 | 10/19 46 m29 9
B nov—i% 2 e XK& NI 2 |[10/19 42 m88 14
g NnNov—i 3 EQll 8 Y i} 1 |10/19 37m53 23
5 Y 1 HH K FEHAL 2 |10/20 57m86 4
5 Y 2 B #A L 2 |10/20 52mb56 13
5 Y% 3 INE FEEE I\ 1 | 10/20 53m92 10




230 EIREFERRRFAELFEBRFIERRER SR 10.19~10.20
, N = FiE P
= #E  RIRtZ K & R FE MR g s pmlm m e
S 100m 1 TH EE ABR 1 [ 10719 +1.1 127 24 2 | +20 117 98 1
T 100m 2 =E »#F EFRFR 2 [ 10719 +25 12739 6
S 100m 3 FH X ] 2 | 10/19| +3.2 127 27 4
&  200m 1 I e ABR 2 [10/20] 1.1 26”7 10 5
S 200m 3 ki BE AT iR 78 2 [10/20] -1.7 25”7 95 3 | -19 25”790 5
S 200m 4 AH EY JJIF%:8 2 | 10/20| 25 26”75 5
& 400m 2 I 85 AER 2 | 10/19 58 7 47 1 56 7 31 1
=S 400m 4 ke BE AT iR 78 2 | 10/19 58”7 66 3
S 400m 5 hix EXK & 2 | 10/19 59”7 97 4
&z  800m 1 NG B AR 2 [ 10/20 2’ 19795 3
S 800m 2 S K AT iR 78 2 110/20 2’ 147 84 2 2’ 16”7 07 3
S 800m 3 i RIE B 1 |10/20 2’ 197 8 2 2’ 197 00
Z  1500m 1 INE EifE AR & 2 | 10/19 4’ 42769 2 4’ 36”13 3
&  1500m 2 BH RIME 2 1 | 10/19 4° 51767 9
Z  1500m 3 $AR M ARE— 1 |[10/19 4’ 48735 3 4’ 35”55 2
#Z  3000m 2 BiE X7 AE— 2 |10/20 9’ 47725 3
&  3000m 3 $RK X ARE— 1 | 10/20 9’ 46" 85 2
#Z  3000m 5 i RIE & 1 | 10/20 10’ 53”7 01 22
Z  110mH 3 VN HBHEIE 2 | 10/19| +2.0 14”7 88 2 14”7 75 6
%  110mH 4 BK OB IR P 7 2 | 10/19| +2.0 15”709 5 ”
Z  110mH 5 FE e TEBRfER 1 [ 10/19| +11 14”7 96 3 ”
% 400mH 1 5% BXx ABR 2 |10/20 17 05" 46 3 ”
& 400mH 2 i M e 2 [ 10/20 17 03”77 3 1 05”58 8
%  400mH 3 R OXE = 2 |10/20 17 077 46 7 ”
& 5000mW 1 it #ER AKX 2 | 10/20 257 11779 3
. 5000mW 2 Frith WMAE AER 1 110/20 DQ.K2
Z  5000mW 3 =is tiH A= 2 |10/20 26° 46" 67 9
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230 EIREFERRRFAELFEBRFIERRER FEE-HA 10.19~10.20
, N = FiE P
= @R RRE K 4 R FE MR g s pmlm m e
S E = Bk 2 EHE #5TE HE 1 | 10/20 1Tm61 8
z EEk 3  TH#M EBIA HE 2 [ 10/20 1m67 3
Z  ESk 4 B R g F 1 ]10/20 1mb58 12
ES ek 4 Wi F4 EBEH%L 2 | 10/19 3m10 13
x  Eak 4 FE #AE mode 2 | 10/19 2m90 15
S e Bk 6 HE & WG H 1 |[10/19 3mi10 8
Z EE 1 CIES RS TERFESR 2 | 10/19 +2.5 5m74 1
Z  EE 2 Zk B8 AER 2 |10/19 +1.3 5m32 13
Z  EE 3 B BiR &F 1 | 10/19 +1.4 5m25 16
S =Bk 1 KB ER Eeyed) 2 [10/20 +1.9 11Tm61 5
S =Exk 3 HO [Bx K 2 |10/20 +1.6 MMTm78 2
S =Rk 5 Rk =F FEFEHES 2 [10/20 +1.3 11m33 6
Z ik 2 KR #A HEEER 2 |10/20 10 m60 11
Z  fahik 3 KE S (=) 1 | 10/20 11 mb54 4
zZ  fahiE 4 FEH EK HEIELE 1 | 10/20 10m64 10
S A g% 1 INE FEF ARE 2 |10/20 32m89 6
Z  EB% 2 I BER HERE 2 |10/20 31m9 9
S g% 4 FHR RXE HE 2 |10/20 30m70 15
T Nov—i% 1 XiR #A HEIELE 2 | 10/19 43m65 2
T N\ov—%& 2 Mt R AE 2 | 10/19 38mil 8
AV G 3 R B HEIELE 2 |10/19 31m34 16
S Y% 2 BA ExE3 B &5 R 3K 2 | 10/19 42m9l 3
= Y 3 RH & Yalic] 2 | 10/19 38mo07 9
S Y% 4 £E EBE TERRfER 2 | 10/19 42m65 5




